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Question Booklet
Answer any 10 questions from the following:
Put a Tick ( \/) mark against the right option.
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Microeconomics is also known as
(i) Price theory
(iii) Monetary theory

(ii) Income theory
(iv) Unemployment theory.
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If there is an increase in both demand and supply then equilibrium price
(i) may rise (ii) may fall
(iii) may remain the same (iv) (i), (i1) & (iii).
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The market demand curve for a commodity can be derived from the —
(i) Horizontal summation of individual demand curves

(ii) Vertical summation of individual demand curves

(iii) Cumulative summation of individual demand curves

(iv) None of them.
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The negative slope of a normal demand curve can be explained by —

(i) Only the substitution effect (ii) Only the income effect

(iii) The income and substitution effects jointly (v) None of them.
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An increase in the price of a commodity when demand is inelastic, causes the total expenditure of the
consumers on that commodity —

(i) Torise (ii) To fall
(iii) To remain unchanged (iv) None of them.
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If the demand curve takes the shape of a rectangular hyperbola then it implies —
(i) Elastic demand (e > 1) (ii) Inelastic demand (e < 1)
(iii) Unitary elastic demand (e =1) (iv) None of them.
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When the seller sells the output at a given price per unit, then —

(i) MR=AR (i) MR > AR

(iii) MR < AR (iv) None of them.
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i*nilowing cardinal utility approach, the necessary condition for consumer’s equilibrium is :

(iii) P, = P, (iv) g

(i) MU,=P, . (i) MU, > Py
(iii) MU, < P, (iv) MU, must be falling.
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Under equimarginal utility principle, the necessary condition for consumer’s equilibrium is
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The absolute slope of the indifference curve is
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When total production is maximum then marginal product is:
(a) equal to zero
(b) greater than zero

(c) less than zero
(d) none of these
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The condition of equillibrium production is
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The line joining the least cost combination is known as
(a) expansion path

(b) price consumption line

(c) income consumption line

(d) budget line
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At the point of intersection of isoquant curve and isocost curve, it represents
(a) consumer equilibrium

(b) production equilibrium

(c) sales equilibrium

(d) none of these
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When is the average product highest?
(a) Marginal Product=Average Product
(b) Total Product is maximum

(c) Marginal Product<Average Profit
(d) Marginal Product>Average Product
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LAC curve is :

(a) U-shape (b) horizonal

(c) vertical (d) none of these.
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(@) AVC = MC (b) AVC > MC
(€) AVC < MC (d) AVC = AC.

When AVC is minimum then :
(@) AVC = MC (b) AVC > MC
(c) AVC < MC (d) AVC = AC.
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When LAC is minimum then :
(a) LMC > LAC (b LMC = LAC
{c) LMC < LAC (d) none of these.

TFC + TVC = ?
(a) AC by TC

() MC (d) 7R (RIABR |
TFC +TVC =72 :

(a) AC (b) TC

{c) MC (d) none of these.
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The time period under perfect competi-
tion is :

'a) very short period(b)short period

'c) long period (d) all of these.




